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d�sÁÇ ¥¿�± n_ójáÖH� ` �+ç<ó�ç|�<ûXÙ

d�+ç>·V�²D²Ôá�¿£ eT~+|�Ú ` I  (2014`2015)

8e ÔásÁ>·Ü ` >·DìÔá+

$<�«]��|sÁT : ................................................................ d�eTjáT+ : 2½ >·+³\T

sÃýÙ Hî+�sÁT : ............................................................                eÖsÁTØ\T : 100

I. d�eTkÍ«kÍ<ó�q 40 eÖsÁTØ\T

1. \¿ì��� ̀ . 25,000 \qT 12% e&�¦ ¹s³T #=|�ðq 3 d�+eÔáàs�\ ¿±ý²�¿ì kÍ<ó�sÁDe&�¦¿ì n|�ð rd�T¿=q�~.

n<û yîTTÔ�ï�� n<û ¿±ý²�¿ì �¥wt 10% e&�¦ ¹s³TÅ£� d�+eÔáàsÁ+qÅ£� ÿ¿£ØkÍ] e&�¦ ¿£³T¼ |�<�ÆÜýË #áç¿£e&�¦

n|�ð Ôî#�Ì&�T. � �<�Ý]ýË mesÁT mÅ£�Øe e&�¦ #î*¢+#î<�sÁT? m+Ôá? (10 eÖsÁTØ\T)

2. AB = 4.2 �d+.MT. BC R 5 �d+.MT. B R 600 ¿=\Ôá\ÔÃ ABCD d�eÖ+ÔásÁ #áÔáTsÁTÒÛÈ+ �]�+#á+&�.

(10 eÖsÁTØ\T)
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3) ¿ì+~ ç|�Xø�\Å£� d�ÂsÕq d�eÖ<ó�H�\T >·T]ï+#á+&�. (10I1 R10)

1) 33x+1 =3x-2  nsTTq x = ?

2) 3 : 7 eT]jáTT 3 : 8\ �V�QÞø�w�ÎÜï A : 45 nsTTq A = ?

3)          R  nsTTq x = ?

4) <�ÖsÁeTT, ¿±ý²\ �w�ÎÜï� d�+¹¿Ôá¿£ sÁÖ|�+ýË s�jáT+&�.

5) DABC @ DDEF nq>± @$T{ì?

6) d�eT#áÔáTsÁÒÛÈ yîÕXæ\« d�ÖçÔá+.

7)     R ?

8) x ýË        uó²>·+ rd¾yûd¾q uó²>·eTTqÅ£�       qT Å£L&�>± m+Ôá?

9) a, b, c \T |�PsÁ� d�+K«\T a + (b+c) R (a+b) + c @ <ó�sÁ�eTT

10) n$T�q yî\ ` qw�¼+ R ...........................

4) ç¿ì+~ y�{ì� |�]o*+º d�]jî®Tq d�eÖ<ó�q+ çu²Â¿³T¼ýË �+#á+&�. (20I1/2 R10)

1)     Å£� >·TD¿±sÁ $ýËeT+ ( )

m) _) d¾) &�)

2) »0µ >·TD¿±sÁ $ýËeT+ ( )

m) _) d¾) 0 &�) �+&�<�T

3) 7 jîTT¿£Ø d�+¿£\q $ýËeT+ ( )

m) 7 _) ̀ 7 d¾) 0 &�) 1

4)        jîTT¿£Ø d�+¿£\q $ýËeT+
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5) ( )

m) _)

d¾) &�)

6) 6
2 2
n n
+ =  nsTTq n = ? ( )

m) 6 _) 5 d¾) 4 &�) 3

7) 0 ?a = ( )

m) 0 _) a d¾) 1 &�) 2

8) 1.222 ..... ýË ne~ó ( )

m) 2 _) 1.2 d¾) 1 &�) 3

9) 0.756  ýË e«e~ó  m) 3   _) 2 d¾) 75 &�) 756

10) #áÔáTsÁTÒÛÈ+ýË ¿ÃD²\ yîTTÔáï+ ( )

m) 1800 _) 900 d¾) 3600 &�) 2700

11) 1.25 I 102 kÍ<ó�sÁD sÁÖ|�+ ( )

m) 12.5 _) 125 d¾) 1.25 &�) 0

12) ( ) 52x
-

 ýË 2x =  nsTTq ( )

m) 2`10 _) 210 d¾) 32 &�) 256

13) ( / ) ma b -  � |��TÔ�+¿£+ <ó�H�Ôá�¿£+>± çy�d¾q ....................

14) #áÔáTsÁTÒÛÈ+ �]�+#�\+fñ ¿±e\d¾q ¿£úd�|�Ú ¿=\Ôá\T ..........

15) 7 eT]jáTT 8 eT<ó�« >·\ n¿£sÁD¡jáT d�+K« .......................

16)
4 2 6

5 5 5
-

+ +  R .......................

17)

m

n

a
a

 R .......................

18) ed�TïeÚ <ó�sÁ `. 100 <���|Õq 10 sÁÖbÍjáT\T ý²uó�+ eºÌq nsTTq ý²uó� XæÔá+ R ......................

19) VAT qT @ <ó�sÁ�|Õ ýÉ¿ìØkÍï+ ................................

20) ý²uó�eTTqÅ£� d�ÖçÔáeTT R ..........................
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II. ¿±sÁD²\T #î|�Î&�+ ̀  �sÁÖ|�D\T #ûjáT&�+. (20 eÖsÁTØ\T)

5. 4PQ =  �d+.MT. 4.8QR =  �d+.MT. 
0 0100 , 100P Q= =  eT]jáTT 0120R =  ¿=\Ôá\ÔÃ

PQRS  #áÔáTsÁTÒÛÈ+ �]�+#á>·\s�? ýñs�? ¿±sÁD+ Ôî\Î+&�. (10 eÖsÁTØ\T)

6. ÿ¿£ _óq�+ýË \eeTT, V�äsÁ+ ¿£+fñ 8 ÔáÅ£�Øe. \eeTTqÅ£� »4µ ¿£*|¾q _óq�+ ÔáÔáàeÖ+XøeTTqÅ£� d�eT+

neÚÔáT+<�? ¿±sÁD+ Ôî\Î+&�.

(ýñ<�)

�q+~� TV � ç|�¿£³q yû\ `. 18,000 m+|¾¿£ #ûd�T¿=q�$. <�T¿±D<�sÁT&�T yîTT<�³ 5% sÁTd�TeTT

�#�Ì&�T. eTsÁ\ n&�T>·>± 3% sÁTd�TeTT �#�Ì&�T. �yîTÅ£�\ _ó+ºq yîTTÔáï+ sÁTd�T+ 8% d�eÖqeÖ, ¿±<�!

¿±sÁD+ Ôî\|�+&�. (10 eÖsÁTØ\T)

III. e«¿£ï|�sÁ#á&�+ (10 eÖsÁTØ\T)

7.                         l   m   nsTTq ?x = (5 eÖsÁTØ\T)

8.                qT kÍ~ó+#áTeTT.

9. ( ) ( )2 23 34 5´  d�Ö¿¡��¿£]+#áTeTT
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(2½ eÖsÁTØ\T)
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IV. nqTd�+<ó�q+ #ûjáT&�+ (20 eÖsÁTØ\T)

10. ³e\T jîTT¿£Ø <ó�sÁÅ£� 8.5% neT�¿£+ |�qT� ¿£\T|�>± <ó�sÁ ` 50 nsTTq <�� ¿=q� yî\ m+Ôá?(5 eÖöö)

11. ÿ¿£ ed�TïeÚ jîTT¿£Ø <ó�sÁ ̀  300 ¿=q� yî\�|Õ n<�q|�Ú KsÁTÌ ̀  50  � ed�TïeÚqT ̀  500  Å£� n$T�q  nsTTq

ý²uó� XæÔá+ m+Ôá? (5 eÖsÁTØ\T)

12. ç|�¾CÙ� s�E ` 23,000 \Å£� ¿=q� _\T¢ yîTTÔáï+ #î*¢+#îqT. nsTTq ç|�¾CÙ �|Õ 14.5% y�«{Ù #î*¢+#îqT.

nsTTq <�� jîTT¿£Ø nd�\T <ó�sÁ m+Ôá? (5 eÖsÁTØ\T)

13. 2.353535....... p
q  sÁÖ|�+ýË s�jáT+&�. (5 eÖsÁTØ\T)

V. çbÍÜ�<ó�« |�sÁ#á&�+ (10 eÖsÁTØ\T)

14. d�+K« ¹sK�|Õ 3  qT d�Öº+#á+&�. (5 eÖsÁTØ\T)

15. N, W, I, Z d�+K«\ d�$TÜýË d�+¿£\q |�sÁ+>± @ @ $<ó�s��\qT |�{ì¼¿£ sÁÖ|�+ýË #áÖ|�+&�.(5 eÖsÁTØ\T)

(2½ eÖsÁTØ\T)




